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QUESTION 1

An administrator enables High Availability (HA) on a Virtual SAN cluster. Which network is used for HA Network
Heatbeat configuration? 

A. The Management network. 

B. The vMotion network. 

C. The Virtual SAN network. 

D. The Provisioning Traffic network. 

Correct Answer: C 

 

QUESTION 2

Which two statements are true when configuring a virtual flash resources (vFlash)? (Choose two.) 

A. Virtual Machines cannot reside on the virtual flash resource. 

B. Only Shared Storage can be configured as a virtual flash resource. 

C. vSphere DRS does not support vFlash resources. 

D. vFlash resources are managed at the ESXi host level. 

Correct Answer: AD 

 

QUESTION 3

Refer to the Exhibit. An administrator has created the resource pool configuration shown in the Exhibit. 
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Based on the exhibit, which virtual machine(s) can be successfully powered on? 

A. VM-M1 only 

B. VM-K1 only 

C. VM-K1 and VM-K2 only 

D. VM-K1, VM-K2, and VM-M1 

Correct Answer: D 

 

QUESTION 4

A vApp is running out of compute resources when overall activity is high within the resource pool. At other 

times, everything is fine. 

What should be done to resolve this issue? 

A. Increase the size of the resource pool Shares. 

B. Set the vApp\\'s CPU and Memory Reservation Type to Expandable. 

C. Set the vApp\\'s CPU and Memory Limit to Unlimited. 

D. Create a new resource pool with the existing hardware configuration. 

Correct Answer: B 

 

QUESTION 5

vMotion can be performed between which three physical boundaries? (Choose three.) 

A. Between two vCenter Server Systems 

B. Between two vSphere Distributed Virtual Switches 

C. Between two vCenter Server Datacenter objects 

D. Between two VMware NSX Layer 4 segments 

E. Between two NFS datastores 

Correct Answer: ABC 
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